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[CB-BA628-B/CB BS632-B]
ATTHEENDOF SIXTHSEMESTER-(CBCSPATTERN)
' DEGREE EXAMINATIONS
| ELECTIVE - (B) ‘
MATHEMATICS - VI (B)- NUMERICALANALYSIS
(COMMON FORB.A.,B.Sc.)
(From The Adm:tted Batch of 2015-16)

Time : 3 Hours Maximum : 75 Marks
- SECTION-A

Agreidn - @

Answer any FIVE of the following questions. Each
question carries FIVE marks. (5 ><5—25_)

Bod TS DI wth ©BHoH JS&rgraren [Pabol. ©8
B b Sryen.

If u=3x"-6x,find the percentage error in u at x=1, if
the error in x is 0.05.

u=3x =6 u:écﬁ x=1, x &% %o 005 ond ueS*5 Foz®
2 @&b@;é&%ﬁgo&

2. Findarealroot of the equation x*+ x? 1 = - 0by iteration
method. .

o P rxt-1=0 «oﬁbééeass»:ééa @é&é oJ(S&?S &8 m:oéémeao«‘é)
| ESofP,

Usmg newton-Raphson method, establlsh the iterative
formula %, =;(x +—]

to calculated the Square root of N. |
N ciBooég, S8 Horero r‘faa?éo Soﬁommé

Zéanegéas ova’a Nl
0335@:“.0 Xy == 5 420
16000 .“a"’mm [ J SR D9 ¢ MJ"@B’J»KB DRGSOE.
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4. Evaluatei) a>(3¢*) ii) a’cos2x

i) a2(3¢*) ii) a’cos2x g508%h08

5. Computef(l.1) from the following data.

Bod Barodsno Ko f(1.1 ) % KeBoSos.

s 1 123 443 '

fx) |7 [ 12129 | 64 | 123

6. UseGauss’s backward interpolation formula to find f{32)
given that [25) = 0.2707, £(30)=0.3027, /(35)=0.3386,

f140)=0.3794. it

f25) = 0.2707, f (30)=0.3027 f(35)=0.3386,

J(40)=0.3794 o8 rv& 86%50% RrEe) essd@reAod f(32)
B E58ho8, ' |

7. Find the third divided difference of the function -
F(xX)=x+x+2 for the argument 1,3.6.11
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SECTION -B

gty -
Answer ALL the questions. Each question carries TEN
Marks. (5x10=50)
o PHO®H SSrograren

[Fecdhold. (%8 ®%H 10 So8xen,
a)  Explain absolute, relative, percentage error and
derive general error formula.

o5, ‘3“3.:5 g ShBwes ABB0Bo& H8dk) oG

&% Q|8 500 Traol.
(OR/8er)

2 . L[] .
b) Ifu- 5;’; then find relative maximum error in u,

given Ax = Ay =Az=0.001 and x = y=z=1.
u=32 Ax = Ay = Az = 0.001 6o x =

oDV 4 & I K% B0 BSoRH%0,
a)  Findreal root ofthe equation f(x) = x* -

by the method of False
of decimals,

=z=]

2x-5=0
position upto three places

J(x)=x" —2x ~ 5 = 0 55 Swreow > 5658 e
4 B58°0& égmm SO 3580S0A,
(OR/8cr) ‘ |
b)  Use Muller method to find a root of equation
x3 ks xi! e 1 i 0
x3 __xl ~x~-1=0 J‘éé Hare o i‘)&)gg 5%33
AB@rRoD EEH08.
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11.

12.

13,

b)

b)

4) [CB-BA628-B/CB~'BSG32-B]

Find the missing entries in the following table.
Bot5 BOBK &5em080 Kot E*0D BEKV Ko osks

X 0 1 R 4 5

y=fix) | 0 o 8 15 - 35
it (OR/Ee)

Prove that '

D) wy=uy+ Ay + Ay + Ay,
)y =+ Au, + A%+ Ay, D6-B0508,

State and prove the Newton’s forward interpolation
formula with equal intervals,

Rog0R B K505 @90635%;6 K)Joteﬁéw:ﬁ)'éo“wozé e—goécbe;
505 (55000 JBT05HSw. ;

~ (OR/&w) |
Apply Gauss forward formula to find the value of

-y, ifu =14, u,=24; y =32; u, =40.

U,=14, u=24, =32, u, =40 wond w6 95
SREER) S5EPACD U, DevisiH EHEhoh, '
By means of Newton’s divided difference formula find
the value of (8) and /(15) from the following table.
(BOL BOVS DB Tryoe $mses§ DerAs Rr(go &H@rA0D

J8), f15) &% é@ﬁ&é}).

x 14 (5 17 10 T11 1713

™| 481100 | 294] 900 | 1210( 2023

b)

(OR/8wr)

 Derive Lagrange’s Interpolation ormula.

Blrro ‘@-06336'?6\-: m@u@& SBNQOB0A. :



